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NEW QUESTION 1

Exhibit
g1 R1
R2 \
203.0.113.0/24
: Virtual router
= N "\, Internet
HEL

A4 | /R4

Routers R1 and R4 have a VRRP priority of 90, while R2 and R3 have default VRRP priorities
Referring to the exhibit, which router will be elected as the primary VRRP router?

Answer: D

NEW QUESTION 2

You have created a routing instance named vr3 that will provide access to Server 2 (10.0.0.2) (or the hosts on the 10.10.10.0/24 network. Which command would

you use to test connectivity between vr3 and Server 2?

A. user@vr3> ping 10.0.0.2 count 5

B. user@vr3> ping 10.0.0.2 count 5 source 10.10.10.1

C. user9routerl> ping 10.0.0.2 count 5

D. user@routerl> ping 10.0.0.2 routing-instance vr3 count 5

Answer: C

NEW QUESTION 3
Exhibit
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You are advertising a summary route that represents your local network (172.20.0.0716) to both ISP A and ISPB. You want to influence all traffic sent to you from

ISP C to go through R2.
How would you accomplish this task?
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A. On R1, prepend your AS number three times on the 172.20.0.0/16 route when advertising It to ISP 1.

B. On R1, change the local preference value to 250.

C. On R2. prepend your AS number three times on the 172.20.0.0/16 route when advertising it to ISP 2.

D. On R2, change the local preference value to 50.

Answer: B

NEW QUESTION 4
Which two statements are correct about the way that BGP propagates routes by default? (Choose two.)

A. A route learned by EBGP will be re-advertised to IBGP peers.

B. A route learned by IBGP will not be re-advertised lo IBGP peers.
C. A route learned by EBGP will not be re-advertised to IBGP peers.
D. A route learned by IBGP will be re-advertised to IBGP peers.

Answer: CD

NEW QUESTION 5
Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)

A. By default, the next-hop value is changed across IBGP links.
B. By default, the next-hop value is changed across EBGP links.
C. By default, the next-hop value is not changed across IBGP links.
D. By default, the next-hop value is not changed across EBGP links.

Answer: A

NEW QUESTION 6
Exhibit
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(.1) 192.1.1.0/30 (.2)
Router1 Router?
IBGP
[edit]

user@Routerl$ show protocols bgp
group External (

peer-as 64525;

neighbor 172.25.1.2;
}

Referring to the exhibit, what must be included in the Routel configuration when establishing an EBGP session with the ISP?

A. A local address must be specified.

B. A local AS must be specified.

C. The BGP session type internal must be specified.
D. The BGP session type external must be specified.

Answer: A

NEW QUESTION 7
Exhibit
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user@r2> show ospf route
Topology dafaul: Route Table
Prefix Path Foute
Type Type
i192.168.1.1 Intra AS BR
192.168.1.3 Intra Area BE
172.18.1.0/24 Ext2 NMatwork
i12.26.1.0/30 Intra MNetwork
172.26.2.0/310 Intra Network
172.26.3.9/30 Intra Network
L12.26.4.0/3 Inter HNetwork
192.168.1.1/3¢ Ext: Network
i92.1%08.1.4/7 34 Intra Nerwork
02.1€8.1.3/32 Intra Network
192.1€8.1.4/32 Inter Network
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Which prefix in the output shown in the exhibit is an external prefix injected by an OSPF router?

A.192.168.1.3
B. 172.18.1.0/24
C.192.108.1.4
D. 172.26.4.0730

Answer: D

NEW QUESTION 8
What are three types of MPLS routers? (Choose three.)

A. transit routers

B. peering routers

C. egress routers

D. aggregation routers
E. ingress routers

Answer: ACE

NEW QUESTION 9
Exhibit

R1
Lo0 192.168.1.1/32

2001:DB8:0:0:2005::/64
1 2
ge-0/0/1 ge-0/0/1

Lo0 192.168.1.2/32

You are asked to configure OSPF between routers R1 and R2 using IPv6 addresses. Which two tasks will accomplish your objective? (Choose two.)

A. Issue the sec protocols ospf area 0.0.0.0 interface ge-0/0/1.0 command.
B. Under the [edit routing-options] hierarchy, configure a 32-bit router ID.

C. issue the set protocols ospf3 area 0.0.0.0 interface ge-0/0/1.0 command.
D. Under the [edit routing-options] hierarchy, configure a 128-bit router ID.

Answer: AD

NEW QUESTION 10

The segment touting SRGB start label Is 10,000 and the SRGB index range is 500.
In this scenario, which two statements are correct? (Choose two.)
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A. The first usable label is 10,001.
B. The last usable label is 10.501.
C. The last usable label is 10,499.
D. The first usable label Is 10,000.

Answer: CD

NEW QUESTION 10

Exhibit

La&r@R1> show configuration preotocols mpls
iabel-switched-path Rl _T0 RS |

o 192. 88.1.5;

- _;;_. -

E

inserface ge- 0.4q
nterface ge- 1.0;

You have an established LSP between your R1 and R5 devices using the configuration shown in the exhibit. You are asked to ensure that MPLS labels are used
to forward traffic by all devices within the LSP.
Which action will accomplish this behavior?

A. Configure the ultimace-hop-popping statement under the R1_TO_RS5 label switched path on R1.
B. Configure the explicit-null statement under the protocol mpls hierarchy on R1.

C. Delete the no-espf statement under the R1_TO_RS5 label switched path on R1.

D. Configure the install statement under the R1_TO_RS5 label switched path on R1.

Answer: D

NEW QUESTION 15
Exhibit

ISP C k.
(AS 64513)

|
|
J
|
I

203.0.113.0/24 i1s reachable
through AS 64513

R1
AS 64512

R2 R3

You confirm that the R2 and R3 routers are receiving a BGP route to the 203.0.113.0/24 network, but both routers display the route as hidden. Referring to the
exhibit, which two actions solve this problem? (Choose two.)

A. Apply the routing policy on R1 as an export policy to the IBGP group.
B. Apply the touting policy on R1 as an Import policy to the IBGP group.
C. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for IBGP peering.
D. Configure a routing policy on R1 that sets the next hop for the 203.0.113.0/24 BGP route to the IP address that R1 uses for EBGP peering.

Answer: CD
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NEW QUESTION 18
Exhibit

[edit]
e

uger@routerf 2T routing-optlons nonsStaop-routling

(edit]

user@router§

Referring to the exhibit, which two additional steps should you lake to fully configure NSR? (Choose two.)

A. You should configure the max period for NSR precision timers.
B. You must configure GRES.

C. You must configure graceful restart.

D. You should configure commit synchronization.

Answer: AB

NEW QUESTION 19
Which configuration selling prohibits a static route from being redistributed by a dynamic routing protocol?

A. route-filter

B. no-readvertise

C. qualified-next-hop
D. passive

Answer: B

NEW QUESTION 20

An OSPF router does not have a router ID configured.

In this scenario, which statement is correct about the router ID?

A. The Junos OS will use the IP address assigned to the interface with the lowest MAC address.
B. A router ID will not be assigned until it is manually configured.

C. The Junos OS will use the IP address assigned to the loopback interface for the router ID.

D. The Junos OS will use the IP address assigned to the Interface with the highest priority.

Answer: B

NEW QUESTION 25

Exhibit
M\ Exhibit X
Natwork 1 MNabwork 3

Matwork 2

oo rz0a @)

RSVP Signaled Service Provider MPLS Core

Which two statements are correct about the service provider MPLS network shown in the exhibit? (Choose two.)
A. R3is considered a P router.

B. R3is considered a PE router.

C. R3is considered a transit router.

D. R3 is considered an ingress router.

Answer: AB

NEW QUESTION 30
Exhibit
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| A Exhibit 3
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You are asked to configure the OSPF environment to prevent the DRother routers from participating in DR/BDR election.
Referring to the exhibit, which command will accomplish this task?

A. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority 255

B. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority O

C. set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma
D. set protocols ospf area 0.0.0.0 interface ge—0/0/1 interface-type p2p

Answer: A

NEW QUESTION 33
Exhibit

ISP B
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R1 R3
You want the R1 and R3 routers to forward traffic destined to the 203.0.113.0/24 network through R2. Which BGP attribute would you modify to satisfy this
requirement?

A. community

B. origin

C. MED

D. local preference

Answer: C

NEW QUESTION 35

Which two statements ate correct about the community BGP attribute on a Junos device? (Choose two.)
A. The community attribute is a mandatory BGP attribute.

B. If the community attribute is present, it is ignored and deleted in the BGP updates.

C. If the community attribute is present, it should be passed unchanged in the BGP updates.

D. The community attribute is an optional BGP attribute.

Answer: AC

NEW QUESTION 36
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You want to enable a routing platform with redundant REs to switch from a primary RE to a backup RE without alerting peer nodes. Which two technologies would
you use to satisfy this requirement? (Choose two.)

A. GRES
B. VRRP
C.NSR
D. ISSU

Answer: BC

NEW QUESTION 38
Exhibit

user@router-rel> show system s?

Possible completicons:

services Show service applications information
snapshot Show snapshot information

software Show lcaded JUNOCS &Xtensions
statistics Show statistics for protocol

storage Show loccal storage data

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.
Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.
B. The command is only available on the backup Routing Engine.
C. The command is only available If a backup router is configured.
D. The command is only available If graceful restart is enabled.

Answer: B

NEW QUESTION 40
What are two bridging concepts that are used to maintain an Ethernet switching table? (Choose two.)

A. learning
B. exporting
C. aging

D. timing

Answer: A

NEW QUESTION 42
Exhibit

M\ Exhibit 3

czer@swltoh> show SPANning=tres RIlage

SIF bridge parameters

Concext ID 0
Erapled procogol : RETE
| Foot TD  Bl92,50akiBdieaaidbt 41
. Hello time i 10 seconds
1 MaxiTum age : A0 seconds
1 Forward delay : 30 smconds
Messags age ;0
Number of topology changes i -1
Time since last topology change : T8l second=
E | Topology changs lnitiator : ga-0s0/14.0
Topology change 'last reowd. from : Z2o:6k:f5:30 0061406

Local]l peRrameTers
Bridge ID - 81
Extendad systsr TD 0

Incternal instancs ID : 0

Which two statements ate correct about the information shown in the exhibit? (Choose two.)
A. The root bridge is reachable using the ge-0/0/14 interface.

B. This switch is the root bridge for this spanning tree topology.

C. This switch has a bridge priority of 8k.

D. The root bridge's priority Is 4Kk.

Answer: BD

NEW QUESTION 46
Which two interface types are used as tunnel endpoints? (Choose two.)
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Answer: BC

NEW QUESTION 48
Which new field is added to an IPv6 header as compared lo IPv4?

A. version

B. checksum

C. fragment offset
D. flow label

Answer: D
NEW QUESTION 51
Exhibit

M\ Exhibit

Ingress LSP sassiona

< 92.168.0.3
From: 0.0.0. 0, State: Dn, ActliveRoute: 0, LSPname: Lo-R3
ActiveParh: (nons)

LePtype: Sctatic Configured, Penultimate hop popping

LoadBalance: Random

Follow destination IGP metzic

Encoding type: Facker, Switching type: Facker, GEID: IPv4

LSF Self-ping Status : Enabled

Frimazy State: Dn
Friozities: 7 O
SrartOptimizeTimar: 180
Flap Count: O
MBEB Counct: 0

Will be engueued for recomputation in 12 secondi=).

1 Mar O 23:22:22.9%8 CSPF: could not decermine self
tser@roucer> show ted database
TED database: 0 I5IS nodes O INET nodes
[@dis PICLOCOLS
userfrouterf show
o3pl |

arasx 0.0.0.0 {
incerface ge-0/0/2.0;

interface ge-Q/0/4.0;

reve |
intezface all;

ogp |
grou nt 1
L R g o | i
=L 1S EINAaL;
local-address 162 . 1628.0.1;
export nhs;
neilghbor 19%L.1068.0.3;
1
mpls |

The LSP is not establishing correctly.
Referring to the exhibit, what should you do to solve the problem?

A. Enable traffic engineering for the OSPF protocol.
B. Enable traffic engineering for the IS-IS protocol.
C. Enable traffic engineering for the BGP protocol.
D. Enable traffic engineering for the RSVP protocol.
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Answer: D

NEW QUESTION 54

Exhibit
M\ Exhibit &
fedit]
uzerawitenF show routing-instancss
=w—1 |
instance-type virtual-switch;
bridge-doemains
ylan.1 |
vlan-id 1;
|
vlan 2 4
vlan—-id 2;
}
i
Tediz]
uzserdswitchd show interfaces xe-170/%
vniT O
family bridge |
interfaca-mcde access:
vian=id 2!
|

You are asked to assign interface xe-1/0/5 to a virtual switch. What must be accomplished to complete the configuration?

A. Interface xe-1/0/5 must be added to routing-instance sw-1 vlan_2.

B. Interface xe-1/0'5 must be a trunk port.

C. Interface xe-1/0/5 must be added to routing-instance sw-1.

D. An IRB interface must be configured to routing-instance sw-1 vlan_2.

Answer: C

NEW QUESTION 55
You are asked to create connections between routing instances on the same Junos device and route between the connected Instances. What are two ways to
accomplish this task? (Choose two.)

A. Use physical interfaces.

B. Use an IRB interface.

C. Use logical tunnel interfaces.
D. Use loopback interfaces.

Answer: AB

NEW QUESTION 57
You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two statements are correct in this scenario? (Choose
two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
B. Traffic engineering extensions ate enabled by default In OSPF.

C. Traffic engineering extensions are not enabled by default in OSPF.

D. You must use the policing parameter in the label-switched-path configuration.

Answer: AC

NEW QUESTION 61

You are adding an IPv6 configuration to an Interface on a Junos device. In this scenario, which statement is correct?
A. The link local address must be manually configured within the fdOO0::/8 prefix range.

B. The link local address must be manually configured within the fe80::/10 prefix range.

C. The link local address is automatically created using the MAC address within the fe80::'10 prefix range.

D. The link local address is automatically created using the MAC address within the fd00::/8 prefix range.

Answer: D

NEW QUESTION 65
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